
INSTALLATION SUBSTRATE HEAD TYPE SIZE

MANUFACTURER 

AND/OR 

SPECIFICATION

MIN. 

EMBEDMENT 

(IN)

MIN. EDGE 

DISTANCE (IN)

MIN. 

SPACING (IN)
CAPACITIES BASED ON

ITW TAPCON (3) 1  1/2 1  1/8 2  1/2 

MIN. 2000 PSI CONCRETE BUT NOT 

LESS THAN THAT REQIRED BY 

BUILDING CODE

Elco Ultracon 1      1 3  3/8 

MIN. 2500 PSI CONCRETE BUT NOT 

LESS THAN THAT REQIRED BY 

BUILDING CODE

ITW TAPCON (3) 1      2      2  1/2 

STRENGTH CONFORMANCE TO 

ASTM C-90, MEDIUM WEIGHT 

DENSITY > 117 PCF

Elco Ultracon 1  1/4 1 3  3/8 
STRENGTH CONFORMANCE TO 

ASTM C-90, MEDIUM WEIGHT

WOOD  (1) PAN HEAD NO. 10

ANSI B18.6.1 

(WOOD SCREW)                              

ASME B18.6.4 

(TAPPING SCREW)

1  3/8   3/4   3/4 
WOOD WITH A MINIMUM 

SPECIFIC GRAVITY OF 0.55

FIN-FRAME 

ANCHORS
WOOD  (2)

PAN HEAD 

W/WASHER OR 

ROUND WASHER 

HEAD (4)

NO. 10

ANSI B18.6.1 

(WOOD SCREW)                              

ASME B18.6.4 

(TAPPING SCREW)

1  1/2   5/16  13/16
WOOD WITH A MINIMUM 

SPECIFIC GRAVITY OF 0.55

NOTES:

1) FOR WOOD AND TAPPING SCREWS IF SPLITTING IS A CONCERN, DRILL 7/64" PILOT HOLE FOR WOOD FRAME INSTALLATION.

2) FOR WOOD AND TAPPING SCREWS IF SPLITTING IS A CONCERN, DRILL 3/32" PILOT HOLE FOR WOOD FRAME INSTALLATION.

3) WHEN ITW TAPCONS ARE USED FOR CONCRETE/MASONRY INSTALLATION, THEY SHALL BE THE ADVANCED THREADFORM TECHNOLOGY TYPE.

4) NO. 10 WASHER (USED WITH NO. 10 SCREW) OR NO. 10 ROUND WASHER HEAD WOOD SCREW SHALL HAVE NOMINAL HEAD DIAMETER 7/16" OR LARGER.

INSTALLATION ANCHOR SCHEDULE

THROUGH-FRAME 

ANCHORS

CONCRETE PAN HEAD 3/16"

MASONRY 

(BLOCK/CMU)
PAN HEAD 3/16"











ITEM # PART NO. REQD. DESCRIPTION MATERIAL MANF/SUPPLIER /REMARKS
1 903 1 FRAME WITH OR WITH OUT FIN VINYL MIKRON
2 901 1 SASH FRAME VINYL MIKRON
3 895 1 GLAZING BEAD FOR I.G.U. VINYL MIKRON
5 1093 AS REQ'D .187" BASE X .250" PILE W/STRIPPING VINYL ULTRA FAB
6 2258 2 CONCEALED SNUBBER STAIN. STEEL TRUTH
8 ▬ 4 #8 x 1/2" PAN HEAD SHEET METAL SCREWS STEEL ▬

9 1309 1 LOCKING HANDLE STEEL TRUTH
10 2269 1 MAXIM SCISSORS AWNING OPERATOR ASSY. STEEL TRU TH
11 ▬ AS REQ'D 3/16" TAPCON SEE ANCHOR SCHRDULE SHEET 1 STE EL ELCO (OR EQUIV.)
12 ▬ AS REQ'D #10 PPH WOOD/TAPPING SCREW SEE ANCHOR  SCHE DULE SHT. 1 STEEL ▬

13 8864 1 APPLIED FLANGE VINYL MIKRON
14 1305 AS REQ'D WEATHERSTRIPPING VINYL ULTRA FAB
15 ▬ AS REQ'D DOW 995 SILICONE SILICONE DOW-CORNING
16 SCREEN 1 SCREEN FRAME ALUMINUM RITE SCREEN
17 02318/02306 1 OPERATOR TRACK & SLIDER ASSEMBLY STEEL TRUTH
18 1931 8 #7 x 5/8" P.F.H. SHEET METAL SCREW STAIN. STEEL ▬

19 195 10 #8 x 3/4" P.F.H. SHEET METAL SCREW STAIN. STEEL ▬

20 19298.92 2 #10-24 x 9/16" PAN HEAD TF MACHINE SCREW STEEL ▬

21 19205.92 2 #8 x 1/2" P.F.H. SHEET METAL SCREW STEEL ▬

22 24.32.XX.002 1 LOCK ASSEMBLY STEEL TRUTH
23 21600.92 2 SUPPORT PLATE STEEL TRUTH
24 05628POO2 1 KEEPER STEEL TRUTH
25 I.G. UNITS 1 7/8" IMPACT I.G.U. GLASS CARDINAL
26 ▬ AS REQ'D "J" CHANNEL STIFFENER GALV. STEEL HOMESHIELD
27 ▬ AS REQ'D #8 X 7/8" SELF DRILL CAP HEAD SCREW STEEL ▬

28 1271 1 OPERATOR HANDLE STEEL TRUTH
29 ▬ AS REQ'D 0.338" ROLL FORMED SUPER SPACER STAIN. STEEL CARDINAL
30 24406.8.2 2 TWO (2) ARM HINGE STAIN. STEEL TRUTH
31 24406.7.1 1 VENT HOOK STAIN. STEEL TRUTH

32 01934

SETTING BLOCK (NEOPRENE SETTING BLOCKS WITH 70 TO 9 0 
SHORE A DUROMETER HARDNESS ARE  REQUIRED AT BOTTOM 
(SILL) OF FIXED GLAZING LITES MORE THAN 3 FEET IN W IDTH.

NEOPRENE 
(SHORE 

DUROMETER 
HARDNESS 85)

FRANK LOWE




	JELD0101_RevA-1
	JELD0101_RevA-2
	JELD0101_RevA-3
	JELD0101_RevA-4
	JELD0101_RevA-5
	JELD0101_RevA-6
	JELD0101_RevA-7

		2013-12-23T11:40:57-0500
	Robert J. Amoruso, P.E.


		2013-12-23T11:41:10-0500
	Robert J. Amoruso, P.E.


		2013-12-23T11:41:24-0500
	Robert J. Amoruso, P.E.


		2013-12-23T11:41:56-0500
	Robert J. Amoruso, P.E.


		2013-12-23T11:42:10-0500
	Robert J. Amoruso, P.E.


		2013-12-23T11:42:24-0500
	Robert J. Amoruso, P.E.


		2013-12-23T11:42:46-0500
	Robert J. Amoruso, P.E.




